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Model (1) 

A) Choose the suitable to complete the following : 
 

 

 

 

 

 

 

1)                                                  2) 

            3)      

            4)                

 5 ) In the equation                , If           , then the value of   

B) Using the following set of values 7, 3, 3, 13, 10, 6 : choose the card from 
group B that suits group A as follows :  

 

 

1) The  mean 

2)  The mode  
3) The range  
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0.75 ……….. to the set of rational numbers 
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)2Model ( 

A) Using the following Venn diagram, find the greatest common 
factor ( G.C.F ) of the quotients of the following division 
operations. 

264÷22= …..     

270 ÷15 = ….. 

 

 

 

 

G.C.F  =    ……………… 

B)  The following graphical representation shows a number of 

studying hours to students , answer the following : 

1) How many students studied for 6 to 7 hours? 
2) How many students studied 4 hours or more? 

3) How many students does the data represent? 

 

 

 

 

 

 

 

The prime  factors of 

the number……….  

The prime  factors of 

the number……….  

Number of 

students 

The number of 

hours 6- 7        7-8           0-1      2-3         4-5      
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Model (3) 

A) Put the following numbers in their suitable places on the Venn diagram and 
then complete : 

, 3          -13  , 77   ,  8.05   , - 4.9 ,   0 ,  1  ,  -200  ,    
𝟕

𝟗
    

 

 

 

 

 

 

1) The set of Integers ………… the set of Rational Numbers. 

2 ) The number 3 ……………. to the set of Natural Numbers. 
3 ) The numbers  that represent the solutions of the inequality x≥1  
From the previous numbers in the set of Integers are …….. 

B) Using the following set of values 5 , 11, 18, 11, 1, 14: choose the card from 

group B that suits group A as follows :  

 

1) The Arithmetic mean     2) 

 2) The mode    

3) The range  

 

The set of Rational Numbers 

The set of Integers  

The set of Natural Numbers 

The set of Counting  

Numbers 

 

14 

11 

17 

A
B 
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)4Model ( 

A) Complete the following table : 
 

The independent 
variable 

The 
dependent 

variable 

The solution  Verbal   
expression of 
the equation 

The Equation  

x      ............ When x=2  
y=........ 

multiply by 2, 
then add 3 

Y=2x+3 

.................. y When x=8  
y=………. 

……… 

 
y = 

 

 
x - 2 

 

 

 Match each card to the suitable one

-20 > …… The greatest common 

Factors of two 

numbers 18 and 36 

   1,386÷21=… 

18 -25 66 5 

The solution of the 

equation 8b = 40  

Is ………  


